
ADDING 2 DIGITS - HELP
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ADDING 2 DIGITS - PRACTICE A

6 3 6 3 6 3 6 3

+ 2 6 + 2 6 + 2 6 + 2 6

9 8 9

1. 3 3 2. 5 1 3. 2 3 4. 1 7

+ 4 0 + 1 1 + 5 2 + 3 2

7 3 6 2 7 5 4 9

5. 4 2 6. 5 5 7. 8 4 8. 4 0

+ 2 5 + 1 2 + 1 4 + 2 1

6 7 6 7 9 8 6 1

9. 3 7 10. 6 4 11. 4 1 12. 1 7

+ 2 1 + 2 3 + 3 1 + 5 1

5 8 8 7 7 2 6 8

13. 2 3 14. 5 5 15. 3 5 16. 1 3

+ 3 2 + 3 4 + 4 0 + 1 0

5 5 8 9 7 5 2 3

17. 3 0 18. 4 0 19. 1 6 20. 7 1

+ 4 6 + 5 0 + 3 2 + 1 8

7 6 9 0 4 8 8 9

21. 4 2 22. 5 2 23. 6 3 24. 5 0

+ 1 7 + 2 5 + 3 6 + 2 9

5 9 7 7 9 9 7 9
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WERE GOING TO LEARN HOW TO 

ADD NUMBERS WITH TWO DIGITS.

OK, BUT BEFORE WE START WHY 

DON'T YOU TELL US WHAT A DIGIT IS.

OH, THAT PROBABLY WOULD BE A GREAT IDEA. DIGITS 

ARE THE NUMBERS INSIDE THE ACTUAL NUMBER. WELL, NOW YOU 

TOTALLY LOST ME.

BEFORE ANYONE ELSE PANICS, 

CHECK OUT THIS EXAMPLE.
I GET IT. THE NUMBER 

IS 375, AND THE DIGITS 

ARE 3, 7, AND 5.

OK, NOW THAT WE CLEARED THAT UP, LET'S TAKE A 

LOOK AT HOW WE CAN ADD BIGGER NUMBERS.
WE CAN REWRITE 

ADDITION PROBLEMS ON 

TOP OF EACH OTHER.

YES, AND THIS WILL HELP US SOLVE BIGGER 

NUMBERS. CHECK OUT THE NEXT EXAMPLE.

I RAN OUT OF FINGERS. 

SO MAX, HOW DO WE 

SOLVE THIS?

IT'S ACTUALLY QUIT 

SIMPLE. ALL WE NEED 

TO DO IS START ON THE 

RIGHT AND ADD DOWN 

LIKE WE DID ABOVE.
DO YOU SEE HOW WE FIRST ADDED 

7 + 1, WHICH EQUALS 8?

THEN WE MOVED TO THE LEFT AND 

ADDED 4 + 3, WHICH EQUALS 7. 

SO THE ANSWER IS 78. 

WE START ON THE RIGHT, WHICH WOULD BE

3 + 6 = 9. THEN WE MOVE TO THE LEFT AND 

ADD 6 AND 2, WHICH EQUALS 8.

ANSWER: 89

ADDING 2 DIGITS - PRACTICE B

2 3 2 3 2 3

+ 5 3 + 5 3 + 5 3

6 7 6

5 1 + 4 0 = 9 1  8 + 7 1 = 7 9 2 6 + 1 2 = 3 8

5 1  8 2 6

+ 4 0 + 7 1 + 1 2

9 1 7 9 3 8

1 5 + 3 2 = 4 7 6 1 + 1 7 = 7 8  6 + 5 3 = 5 9

4 5 + 1 3 = 5 8 6 1 + 2 1 = 8 2 4 7 + 3 2 = 7 9

5 1 + 2 4 = 7 5 3 2 + 3 4 = 6 6 2 0 + 5 0 = 7 0

2 1 + = 2 8 4 1 + 3 2 = 7 3 1 7 + 7 2 = 8 9

5 5 + 1 1 = 6 6 4 2 + 4 6 = 8 8 3 2 + 2 3 = 5 5

ADDING 2 DIGITS - PRACTICE C

4 0 1 8 4 3 3 3 6 7

+ 2 7 + 6 1 + 2 5 + 4 2 + 3 1

6 7 7 9 6 8 7 5 9 8

5 1 2 5 4 1 4 0 4 2

+ 1 1 + 3 3 + 2 2 + 5 0 + 4 2

6 2 5 8 6 3 9 0 8 4

3 7 2 3 5 0 4 1 3 4

+ 6 2 + 4 2 + 2 4 + 1 7 + 2 3

9 9 6 5 7 4 5 8 5 7

3 0 + = 3 8 4 2 + 5 1 = 9 3 1 5 + 5 3 = 6 8

5 1 + 4 2 = 9 3 2 3 + 2 2 = 4 5 4 2 + 1 6 = 5 8

7 2 + 2 4 = 9 6 3 3 + 5 5 = 8 8  5 + 6 2 = 6 7

3 7 + 2 1 = 5 8 7 + 9 2 = 9 9 8 1 + 1 0 = 9 1
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 HELPFUL EXAMPLE

5.

6. 7. 8. 9. 10.

3 +

DO YOU SEE HOW WE CAN 

REWRITE ADDITION PROBLEMS TO 

MAKE THEM EASIER TO SOLVE?

MAKE SURE 

YOU LINE UP 

THE NUMBERS 

CORRECTLY.

LINE UP 

NUMBERS.

MATHCRUSH.COM LEVEL 1


